FLEXFUSION THERMAL EXHAUST KIT
n “ I T Part Number(s) : XG-TEKIT****

© Panduit Corp. 2023 INSTALLATION INSTRUCTIONS V00029WR

Components Included

\ %
=
M5x12mm Screw
Top Cap Spanner Support 51+ 0.6 N-m [45 £ 5 in-lbs]
[ Qty: 01 Qty: 01 Qty: 28

()

M6x12mm Screw
7.3 £ 0.6 N-m [65 £ 5 in-Ibs]

N
Solid Single Hinge Door Top Cap Rear Plate Top Cover Bezel
Qty: 01 Qty: 01 Qty: 08

0
o
=

M6 Tight-Grip Washer

ty: 04
Door Bottom Catch Door Top Catch Door Catch Qty

Qty: 01 Qty: 01 Qty: 01

For Technical Support: www.panduit.com

Page 1 of 7



© Panduit Corp. 2023

INSTALLATION INSTRUCTIONS

V00029WR

Install Hinges & Door Catch to rear of frame

Install (2) Hinges with (2) M6 screws, (2) M6 Tight-Grip Washers to the cabinet frame. Secure to the 1st & 3rd holes from the

top of hole array as shown.

Install Door catch using (2) M5 x 0.8 x 12mm button head screws.
Position Door Catch to inner left side of cabinet vertical frame. Mounting locations vary depending on cabinet height.

See images below.

Door Catch & screw locations

for 48R

(2) M6 Tight-Grip
Washer
ST T Door Hinge
T ® @ [Long Pin]
/ o 0 N
/ P \
/ Qo : -
; T
Q T
DN / )
o | /
,/ -
—~—L__%l-- //
(2) M6x1 x 12mm N
flat head screw / &
(2) M5x0.8 x 12mm NBIE

button head screw

Door Catch T @

(2) M6x1 x 12mm
flat head screw

Washer

.

Nl

Left side of front of cabinet
+. Align Catch to the Door Cam

_____
~~a.
~~o
~
~~
~
~
~
S~
~

Door Hinge \;i |
[Short Pin] -

Right side of rear of cabinet
(1) top Hinge & (1) bottom hinge

Rear of Ca

Door Catch & screw locations
for 45RU

For Technical Support: www.panduit.com

Page 2 of 7



© Panduit Corp. 2023 INSTALLATION INSTRUCTIONS V00029WR

Install Door Catch to frame

» Align Door Top Catch edge to cabinet post front edge
» Install Door Top catch using (2) M5 x 0.8 x 12mm button head screws.
»  Align Door Bottom Catch edge to cabinet post front edge
» Install Door Bottom catch using (2) M5 x 0.8 x 12mm button head screws.
» Position Door Catch to inner left side of cabinet vertical frame. Mounting locations vary depending on cabinet height.
See images below. Door Catch & screw locations Door Catch & screw locations

for 48RU for 45RU

SR
/ S
o
\ o / Door Top Catch
NP /
- L= (2) M5x0.8 x 12mm
button head screw
P / \\\\ -
e , "\ Door Bottom Catch |
-
N
~ Q\

For Technical Support: www.panduit.com

Page 3 of 7



© Panduit Corp. 2023 INSTALLATION INSTRUCTIONS V00029WR

Solid Single Hinge Door Installation

»  Position Door at approximately 90° to cabinet.
*  Place Door onto hinges, aligning top hinge pin first.

Rear of Cabinet

For Technical Support: www.panduit.com

Page 4 of 7



© Panduit Corp. 2023 INSTALLATION INSTRUCTIONS

V00029WR

Install Spanner Support to frame

* Locate Spanner Support from rear end of frame.
* Install Spanner Support using (6) M5 x 0.8 x 12mm button head screws.

Front of Cabinet

Rear of Cabinet

Spanner Support Note: Use caution not to scratch

_______
- ~
-

- _—

(3) M5x0.8 x 12mm
button head screw

paint during Spanner Support installation

(3) M5x0.8 x 12mm
button head screw

522.5mm
0]j lj0
ED Oo o o o o o o o o o #4%# o o o o o o o (O DE
°O 00 c g o oD oOoc 00000 o0o0oc0oc0oD0o0oo0o0oDoedodeo0oen?©9
L. 0« > 0 > 0
i )
o d
o q
o o
o o
o o
o o
o o
e

For Technical Support: www.panduit.com

Page 5 of 7



© Panduit Corp. 2023 INSTALLATION INSTRUCTIONS V00029WR

Install Top Cap & Top Cap Rear Plate to frame

Install Top Cap using (12) M5 x 0.8 x 12mm button head screws.
Install Top Cap Rear Plate using (4) M5 x 0.8 x 12mm button head screws.

(12) M5x0.8 x 12mm
button head screw

Top Cap Rear
Plate

(4) M5x0.8 x 12mm

Y’/ button head screw

For Technical Support: www.panduit.com

Page 6 of 7



© Panduit Corp. 2023

INSTALLATION INSTRUCTIONS

V00029WR

Install Bezels to Top Cap

Install (8) Bezels to Top Cap.

Reference CTCN3X5 Installation at panduit.com.

(8) Bezel Assembly

®ocecce

Top Cap

For Instructions in Local Languages
and Technical Support:

www.panduit.com

E-mail:
mn“lT techsupport@panduit.com

] Phone:
www.panduit.com 866-405-6654

Page 7 of 7



